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The figures in the margin indicate full marks
for the questions.

- Answer either in English or jn Assamese.
LI M e Seg Sl
1. Answer the following questions x10=10 -
() Is {x:x%5=5}anuﬂset?'
Cx X+ 5 =5} @b e wafe oae
'(ii) Evaluate (SITH ﬁ"ﬁ =

log 5 27

(111) Is a scalar matrix, a dlagonal matrlx ? (Yes/'
No). -

aﬁwﬁ#cﬁ?ﬂwﬁaﬁ‘meWP
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(iv) Fill in the blank :
AR SR e s

e B o
‘ _‘.C8+ C9—

(V) If any two rows (or columns) of g
determinant are identical, what will be the
value of the determinant ? '

a1 RAeffees B G 5o R (11 ww) o
0, Rfebr ww & =1 e o

o g (F53)

- (vii) Evaluate : (3w ey W) ' f'i‘ dx
5 ‘ 1

~ (viii) Find the slope of the line which passe ”
through the points (5, =2) and (3, -1).

(5. =2) =% (3, -1) RevE Wce® cary G
BTl efy 3w

(ix) If interest is compounded half yearly, wha
is the formula for finding amount ?

TS % MW RO bl oI oo wfie
IRfagE el a1 sq=eht By Given (fwxi =
A = Amount (Jf&se1), r = Rate (5T%7 2R),
P =Principal (), n = No. of years (1)
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(x) Give the definition of 'decision variable'
associated with linear programming.

N%m%a%wﬁwﬁcﬁawmmw
faa | ; ‘ :
(1) Is—116 a term of the A.P series 46, 38, 30, ....

46, 38, 30, .. @ G HNGR Bt oW

~116 =G 2 2x5=10
: Jyeeg)
(ii) If (‘ﬂﬁ) A [ . 7] ;B [_1 A ]

find (Refx 9  BA.

(iii) Write two differences between a matrix and
a determinant. ! '

B! GNETe O @b Reffae e W51 shefey
& i '

(iv) For what value of m, the line mx — Sy -
- 11=0 passes through the point (-7, 9) ? Find.

My & T @ mx—-.5y—11=0 e RiCH
(-7, 9) Rz e =w 2 Wefy =1
(v) Prove that (o9 3= (X))
B s il b st
~ log_ (abc) logb (abc) log_ (abc)
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3. Answer the following questions :

(a) If a, b, c be the pth; qth and rth te 1

respectively of a GP, prove that i

M a, b, ¢ TN B wrereT esifes pew, q
IF oY o =W, AN P T

b"P '

5x4=)()

qd—T Cp_q =1

Or / Jiza1

A man took a loan of Rs.7200 to be repaid
in 20 instalments, where the instalments forn
an A.P. After 15 instalments one-third of the
‘loan remains unpaid. Find the value of 16 :
instalment. '

-awwzoﬁﬁs@—ﬁwaaﬁwﬁ 7200
B 4INCe FCET | 1551 % fraie forge orat o1
@ (09T G-POIR ARNY R ol
T Siee | AN BRI G s 26 o
IE, (SEE Tt R e [efy =)

(b) A machine costs Rs. 4,00,000. Its valu
depreciates at the rate of 10% p.a. What wil
be its value after 4 years ? ?

«B1 WW4OOOOOWIWWH
2R 10% ==, 4@«@*@&@3@_ i
ESk '
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Or / szt

In how many years will an annuity of
Rs. 400 amount to Rs. 4064 if interest is 3%
compounded annually ?

W‘{ﬁwﬁmﬁ3%mﬁwww
T T 400 Waﬁraﬁ%awgf%qamm
5l = 2

Given (fwzi WTCQ) log 1:3048=01155

log. 1'03 = 0:0128
(c) Show that: (CTyedl @)

I+d™ b c | ¢ _
¢ |=l+a+b+c

a . 1th
a. b e
| Or / SiZat
I (zrf%) U=4{L2 %4567 8
= {1, 2, 3, 4} |
B =-{2 3,5, 7}
Tir{%s. 48, fl)
Find : (ﬁ‘?ﬁl M)
(i) ‘A N B - C)
(i) AU @ - O)F°
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(@1 = )

(d) Prove that
e e 2"_{1 378; . (2n— 1)}
Or/ 711?&1

(a)

A question paper consists of two groups A
and B. Each group consists of 5 questions.
In how many ways a student can answer 6

questions in all if he has to answer at least

two questions from each group ?
G AADIFE A i B 151 Sigere o | 24!

TRAS 5GILS o ©itR | IO Qa2 YI0S I |
- 490 651 2R Tex T AR Tz (o efecst
TR o S Fone 20t emR T IR

sicsl 2

Solve by Cramer's rule. fi
(TR T AT PR LA |

IR Fy ok 28 =3

2x -3y —z = -

X 2y Abz=4

Or/ sz
Find the ifnverse'- of the matrix :

Oeld . (e (o AfSram Sfeneat ¢

1 0 2

A= =1 3

| 4 1 8
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(b)

If () a2 + b? = 14ab, prove that (&e <=1
) - : . 3

log{\/3 (a - b)}-— —(2 log2+loga+log b)-

Or/«i=a
Prove that (&¥id = @)
xvzlogx—logy.—_"l £ )

xlog y-logz & logz —~logx

5. (a) Establish the equation of a line in the form

(b)

1/4Sem=1) BMT =~ (1)

y =mx +e. . 3

FAEAT y=mx + ¢ SFRT AN &‘%‘51
91 :

Find the equation of the line passing through
the point of intersection of the lines 2x — 3y —
9= 0 and Sy - 3x + 14 = 0 and perpendicular
to the line 6x—~7y+ 11=0. i R
2x-3y-9=0%% 5y -3x+14=0 SR
(MR NCSI SO T T 6x—Ty +11=0
[R TR 49 @R AN [efx 311

Or/ «iza

A firm finds that its customers will buy 15%
more of its product if the price of the product
is reduced by ' Rs. 5.  When the price is
Rs. 25, the firm is selling 1000 units.
Assuming the demand curve to be linear, find
its equatlon :
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(b) Find e aa =5
(i) the average revenue functlon (AR)

G IO IR IR @ 2 (oSt Sesiifie
TE T oS 93w 5 G W, (SR
(OSCENDT alierss Rl I siRse 159 qifa
BIfRW! T Tfs qfer «f B srfieel Fef <o,
Wﬁ%awwzswi’m (ST
1000 «ﬂ?ﬁﬁﬁ‘%@‘@l' |

(ii) the marginal revenue function (MR)
() T Bt wom (AR) W%
(11) s ﬁzﬁ e (MR) ey hal

lf (‘{lﬁf)

6. (a) (l) If (3) ¢ (x) = *, prove that (&’NT‘T B ; i
* Total revenue (3{3 R T=m) (TR)

Q) | | ‘ 34
s _ _b(2x+b) =25Q__9i+3 s
Ll e 5

" Q = No. of output sold (315 Rzt T
L‘IW)

Evaluate AR and MR at Q=4 '
Q= 43WARWMR<SJWW§IWI
Or /=321 ‘

A radio manufacturer finds that he can sell
X radios per week at Rs. P each where

(ii) Evaluate : (3 fef 1)

lim il
AT 1% o

Or/‘ﬁiﬁf

A functlon is defined as :
<51 Tl wers fam iﬁ“ﬁ’

oA 0~X‘Sl

: X e : '
i 2(1007-2). His cost of production for x
x=-1, x>1 : '

fx) = {

2

. il e
radlos per week is Rs. (uox . _J Show

that hlS profit is maximum when the
productlon is 40 units per week. Also find
the mammum profit. -
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Is f(x) continuous at x = 1 ?

1) o x =1 g e W
S|
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EAREL o (a) Integrate any two of the following :

» 8. Solve the followmg LPP graphlca'Hy

mﬁ@em@maﬁm@ﬂ.wm

ﬁ—ﬂ asﬁg—q 2iira, z;’@ P= 2{100'-2}, =W

|

7
ﬁf%wqé Bt <35 (120x = % | =,

- orjeR T AT 40 B @R@ﬁzﬁaﬁm

WWW‘@!%W@Q@ & i
ﬂﬁmﬁﬁﬁWi :

v, R I GBI i fefy w
(1) f(6x+1) V3x? +X dx |

RON| “‘m*rg

S R ey TR (#199 wIt STy
Max1mxze Z = 50x - 80y

subject to the constramts
Aty = 160
5x + 6y < 600
X < 80

60 X, y>0
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